Complete the third conditional sentences.

1. He crashed his car, because he fell asleep while driving.

If he hadn't fallen asleep while driving, he his car.

2. We couldn't go to the concert, because we didn't have enough money.

If we enough money, we could have gone to the concert.

3.1 lost my job because I was late for work.

I my job if I hadn't been late for work.

4. The wind was so strong that the bridge collapsed.

If the wind so strong, the bridge wouldn't have collapsed.

5.1 couldn't call Sally because I had lost her number.

1 Sally if I hadn't lost her number




